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7/31 (H) T ER =¥ X B =¥ =¥ =¥
1000 |/\F 4 — 0 AFI| %% - - IK= 2 — 1 AFi
11:30 [A\Fk 2 — 0 »uz5 HEK - — ANFL 1 — 7 N\F@E| Kz
1300 [/\F 3 — 1 NFxk %% - - IK= 2 — 1 A\Ff X%
1430 |AFT 3 — 0 J\F| #% — - -

8/1 (B) TR =¥ B =¥ TR =¥ B =¥
9:30 - — — —

11:00 - NFK 1 — 2 Ix—v Ix-z 3 — 2 HTHA Ix-x 9 — 0 HTHEB
12:30 — — Desen 0 — 3 IXx—z —

1400 |/\F 0 — 6 /\F®& NFK 2 — 4 AFit Desen 0 — 4 HETHA IK= 1 — 5 Ix—X
15:30 JANE 1 — 1 N\FHE AF®R 0 — 5 Ix—v Ix-z 4 — 1 HTHB IK=Z 1 — 2 9LRS

8/2 (K) TR =¥ B =¥ TR =¥ B =¥
9:30 — — Ix—Xx 4 — 0 HHA Ix-z 15 — 0 /\FXK
11:00 — — A#E 1 — 2 IxXxIK—|Tx-v 5 — 0 HEHEB
12:30 — — Desen 1 — 1 HTHA IXx—-z 10 — 1 NFXK
14:00 JNF 2 — 0 9Lz5 — Ix—y 1 — 1 /\FHA IX=Z 1 — 1 HTHB
1530 [/NF 4 — 0 NFE® - A#E 1 — 1 AFd IKk—|Desen 2 — 2 /\F&E

8/3 (OK) TR =¥ B =¥ TR =¥ B =¥
9:30 - — AFd 2 — 0 HETHA Ix-z 4 — 2 /\FH
11:00 - — ANFK 0 — 6 Ix-v IANF®@E 6 — 1 HETMEB
12:30 - — IXx—y 1 — 0 AFi —

14:00 J\F 4 — 2 HETHA - ANF#E 7 — 0 "LRS Desen 0 — 5 HTHB
15:30 JANF 2 — 0 IXx-z - Desen 3 — 0 /\FX IX= 3 — 0 N\F®E
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